y 4 4

~\\ ~ \\EE——— IJ
JUFVIEERE VE
JjF'J E— =
70X JEBFHE
VE (Bf)
BEHABNXT)TAN
_—— KL b
¥ HMESPH
] AP Ve
tEF
G
Al> I8
w o F 'q<
Yl e
3 K
BHHR BRLELT j
L= 72T
B E |whoo| Bl C|D|E|[F |G| H| 1 || K| t|gme| &8s B 15
K 50V 50 86 | 38 |114| 49 | 55 |279| 11 | 16 | 18 | 35|32 | 180 | M10X35| 60 | 2
K 60V 60 |100| 48 [{130| 54 | 65 |31.4| 11 | 16 | 20 | 3.5 | 32| 220 | 1/2X45 | 40 | 2
K 75V 75 |120| 57 |150| 64 [80.5|34.4| 11 | 16 | 24 |45 | 32| 280 |M16X50| 30 | 2
K 90V 90 |160| 69 |200| 83 |100| 42 [135| 20 | 29 |54 | 4 450 | M20X60| 20 | 2
K105V | 105 |186| 82 |[220| 92 (1125 42 [135] 20 | 30 |54 | 4 600 | M20X60| 10 | 2
K120V | 120 |[214| 96 [250(109|130| 42 [135] 20 | 30 |54 | 4 780 | M20x60| 10 | 2
MAERE L TEEH O A 21 THHET,
70X IJEBFHE
VE (EDA) KIvb, Fv b
BERAT U IAY)
B
E
| ; G
~%{§§M%r< of -}
D [~95°
"
L—iL: 729
& & |gho| B | C | D | E | F | G |#EEFLL [15A
K 50V-N| 50 18 | 10 |21.5| 11 | 38 | 3.5 | M10X35| 2
K 60V-N| 60 20 [ 13 | 25 | 11 | 48 | 35| 1/2X45 | 2
K 75V-N| 75 24 |16 | 28 | 16 | 57 | 45 | M16X50| 2
K 90V-N| 90 29 |20 | 34 | 21 | 69 | 54 | M20X60 | 2
K105V-N| 105 | 30 | 20 | 34 | 22 | 82 | 54 | M20X60| 2
K120V-N| 120 | 30 | 20 | 34 | 22 | 96 | 54 | M20X60 | 2

74

¥R - WECDVTR, FPELLEETDIENHDIIDTTTELLEEL,





